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AT 1

1. HEI& foT g uq 9rerd & forw o1 FAfegd Hiforw

la. g7 Ts 9T 3BTl ST &, df 6 & 386 T&IT 9red Fle Sl
oifiehdr 1 8.

1b. T2l & Yedl T Teh 3eh § SIgY Ueh SRl HTel hl ITiAkar 1 & >

2. HEI A o,

2a. Th THa A 5 7 4 A% 2 facamedf & ve geaiicadl # Fear of dahd &1 &1 grifsar
& Rp o et sferafiid & & SR feraT o 3av @@ar &7

a)20%

b)40%

c)50%

d)30%

2b. Teh [QeFehT 3TTolT U 3HHT IROUTTH

a) % g
b) % ge
c) =T Raarue

d) gt fore 3R ue

3. Reasu=r R
3a. frdY gear & gl i goTaeT A faa g 3ahr wiRiesar 2.
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3b. TREY GTAT FT I AT & 3T AT g

4. HEATIT@dT ST 9T,

FaeT 1 TS 2 3k g

a) 31Tell Sftheh ege gl fewat 1) g AT & a)

b) Teh UT& Sl Behel T 8 3TTAT 28 HhdT § W b)
fAfRed &7 @ 7

C) &l digol faR grer 3) 31T C)

d) 31TST 319 &l § 38 Y & 4@ HHAT § W d)

3 GIFECES RG]

e) T fJa &l 3oTa W =g 5) & HHhdl § W e)

3T Afaa ¥ & =gT

ST 2

5. Ig [0 ot & fov foh la-Ir $197 @t yReT el v TharhT 3Ol SITdT & SHehT FT
TRl & fob JFaY &1 Tt hiaf?

6. ThBed AT U, TR 1LY 6 HEIAT 3ifhad &
1) TEIT 2 ATl A T 3TH I [AdTeret ST Uifendr a7 g2

2) TEAT5 dTel d Hf TH A fAenTerst T ITiehdr a7 g2
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7. Fg7 WIRAehdT § b Ues Tacamdt 3 arsfenal 31X v oseh # & A1fAafAd W g1 v agen

87

8. TraATafEd & foraent gt ATad 8, Tohaent g1eIT 318T g, &1 TdhdlT & AT el &l Tehdl g

& &9 H gafiepd .

a) Teh UTHT 30Telel UX 1 T e T&IT M E &
b) Teh U 3TTelel W T 31 @ &

c) Toraad 25 feasx i ghm.

d) & & e arell &

e) 3Tl TgAT Jdl & IRT 3R el gHT.

f) §aT H 3BTell 918 3G a1 # o IR Srwef,

gler fAfRaa g gleTT 3T &

&Y TehdT & T 18T 4T &1 Tehar

T 3
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9. U&h Qe AFATai@d IRUMAT & T 1000 IR 3BT ST & =9 : 445 Ue : 555. J9
U TlFRT HATATTAT FT G 3BTl SATAT @ aF 3T F71 Iifwdr g (i) 9¢ 3R (i) =T
3

10. U 9F H &I ST & & af WM & (Frell 3R THe) . Hel SIgX Th B¢ g&dl=ll
I g, Ha 379e 3 §¢ e T 3R e Apremr aFar wiiferar & fF ar 2 Ser
FA?
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